
Rhino� SD2/XD2
����/����	
�

� 2007 Nordson Corporation P/N 7560464A
- Chinese -

��  

���1。“����/��	�”
���
�����
�����������	�������
 !"#。

$��	���%&'(�������)�*，
“��/��(�”
��,-���./“(�”

0。

$%&'��������)�*，“��/����1
(�”
��,-���./“��”
0。23456
7��������8'%&-�)�9 :8。$%&
'(�������)�*，
��,-���./
“(�”
0。

���;���/��	�
��：

� ��/��(�

（18>?130>?�����）

� ��/����1(�

（18>?130>?�����）

��  

A�BC�DEF�����GH�“��”1“(�”

0。

��：  ��IJK�LMNO���。PQR
STUV�S��!W�
XYNZ�。

	
：  �67H[\]，MN^!_`!�L

abcdO"'Rhino SD2/XD2��	���#
W�eZ�$fg��h。

��：  'MNA�Z��，Pi%jklGmn^!
_`。Ooap，5qr$es
&t�no�uH[A
�!'v。

234

%&

(�
�����

��/��(�
��

%&

(�
�����

��/��(�
��

��
�����

� 1 Rhino SD2/XD2��/��	�
��



Rhino SD2/XD2����/��	�
��2

P/N 7560464A
- Chinese -

� 2007 Nordson Corporation

�
�����  

PQw(�_`EF�����。

1. ���2。:x���y(4)������(3)
 !
z�。

2. {�
+,�����(3)|},~�4(1)#!|}
��(2)。�~�4#{������。

3. ,�!������9~�4(1)�，�,�����
!t��%&�234
 ! ��0.25��。

	
：  �67�����\]，:p,|}�

���B�。

4. '|}��(2)!��#��Loctite 242。W�|}
��G��，�,�����|}�7。:p,|}
����B�。

5. ,���y(4)z�,�����(3)。

6. �
Rhino SD2/XD2��	���$fg��h，$
�1f����(��“��”1“(�”
0。

��“��”�“��”��  
P;�t1。“��”1“(�”
0�
<=H�。
O��p，5~�������E�<=H�。

	
：  �67H[\]，MN^!_`!�L

abcdO"'Rhino SD2/XD2��	���#

W�eZ�$fg��h。

MN������_`�E�<=H�。MN�����

�_`,“��”1“(�”
0���,<=H�。

t 1  “��”1“(�”
0<=H�  


� ���

� �����：
����������
 ! ��
4.5��

�����：
����������
 ! ��
7.5��

( ����������
 ! ��
1.5��

2

1

3

4

�������
t��234
 
! ��0.25��

�����
t��%&
 
! ��0.25��

� 2 EF�����



Rhino SD2/XD2����/��	�
�� 3

� 2007 Nordson Corporation P/N 7560464A
- Chinese -

������  

��：  3>��/��!��5�?o�:�，'~�
(������*ab,@��'B。5,“��”
0
~�,“(�”
0!1.75��(B。

	
：  O��
� '30155EFr¡#~�

“(�”
0H�，P{���G¢£，(6\
]���¤¥¦。

1. ���3。O§
，{���(2)#!G�¢£(1)。

2. O�4��，,� |},����#。�

Rhino SD2/XD2��	���$fg��h，
,���f�,� #。

3. ¨x
+|}~�4(4)!��(3)。)�~�4，
�,§
!�����LED (5)I©。����(3)。

4. O��
�� ，P$����，ª«J,� 
{�。

5. Ooap，'@K�����#�¬_`2,4。

6. �
Rhino SD2/XD2��	���$fg��h，
$�1f����(��“��”1“(�”
0。

7. O�j{­G�¢£(1)，P,@W�,��(2)#。

������  

��：  ���4。'MNu_`
�，>[M!�®J
§!� 。

	
：  {­30155EFr¡#!��G�

¢£，(6\]���¤¥¦。

1. ���3。O§
，{���(2)#!G�¢£(1)。

2. O�4��，,� |},����#。�

Rhino SD2/XD2��	���$fg��h，
,���f�,� #。

3. ¨x
+|}~�4(4)!��(3)。)�~�4，�
,§
!�����LED (5)I©。����(3)。

4. $����。{�����#!� 。

5. Ooap，'@K�����#�¬_`2,4。

6. �
Rhino SD2/XD2��	���$fg��h，$
�1f����(��“��”1“(�”
0。

7. O�j{­G�¢£(1)，P,@W�,��(2)#。

3

4

5

1

2

� 3 ~������



Rhino SD2/XD2����/��	�
��4

P/N 7560464A
- Chinese -

� 2007 Nordson Corporation

(7.50)

��H�� �®：7.5��

��������!"#$

��������!"#$

��������!"#$

(�H�� �®：1.5��

��H�� �®：4.5��

(�H�� �®：1.5��

��H�� �®：4.5��

(�H�� �®：1.5��

� 4 <=H�!� �®



Rhino SD2/XD2����/��	�
�� 5

� 2007 Nordson Corporation P/N 7560464A
- Chinese -

%&  

p¯°±�，P�s
O²³´µ��¶�·$e!s

O²&tqr。

��	
�  

P;��51(�±�t。

4

5

6

7
8

10

1

2

3

9

11

� 5 (�
��

'( P/N �� )* �+

— 1070334 Module, drum empty 30 mm 1

— 1070335 Module, drum empty 18 mm 1

1 1070398 � Bracket 1

2 1042530 � Label 1

3 985112 � Rivet 2

4 332947
� Switch, proximity, 30 mm

(FOR USE ON LEVEL INDICATOR 1070334)
1

4 223492
� Switch, proximity, 18 mm

(FOR USE ON LEVEL INDICATOR 1070335)
1

5 345754 � Screw, socket, 10‐24 x 0.50, grade 8 2

6 983079 � Washer, lock, #10 2

7 983123 � Washer, flat 2

8 1042618
� Plate, adjustable, M30

(FOR USE ON LEVEL INDICATOR 1070334)
1

8 1044341
� Plate, adjustable, M18

(FOR USE ON LEVEL INDICATOR 1070335)
1

9 1042635 � Screw, set, 8‐32 x 0.375, nylon 1

10 982035 � Screw, socket, M8 x 16 2

11 900464 � Loctite 242, blue AR

AR： As Required：Q�p



Rhino SD2/XD2����/��	�
��6

P/N 7560464A
- Chinese -

� 2007 Nordson Corporation

�����	
�   
P;��61(�±�t。

4

5

6

7
8

10

1

2

3

15
14

13

12

9

11

11

� 6 ��1(�
��



Rhino SD2/XD2����/��	�
�� 7

� 2007 Nordson Corporation P/N 7560464A
- Chinese -

'( P/N �� )* �+

— 1070336 Module, drum low/empty 18 mm 1

— 1070337 Module, drum low/empty 30 mm 1

1 1070399 � Bracket 1

2 1044196 � Label 1

3 985112 � Rivet 2

4 223492
� Switch, proximity, 18 mm

(FOR USE ON LEVEL INDICATOR 1070336)
2

4 332947
� Switch, proximity, 30 mm

(FOR USE ON LEVEL INDICATOR 1070337)
2

5 345754 � Screw, socket, 10‐24 x 0.50, grade 8 4

6 983079 � Washer, lock, #10 4

7 983123 � Washer, flat 4

8 1044341
� Plate, adjustable, M18

(FOR USE ON LEVEL INDICATOR 1070336)
2

8 1042618
� Plate, adjustable, M30

(FOR USE ON LEVEL INDICATOR 1070337)
2

9 1042635 � Screw, set, 8‐32 x 0.375, nylon 2

10 982035 � Screw, socket, M8 x 16 2

11 900464 � Loctite 242, blue AR

12 1044094 � Plate, proximity target 1

13 345913 � Washer, flat 2

14 345977 � Washer, lock 2

15 345750 � Screw, socket, 1/4‐20 x 0.75 2

AR： As Required：Q�p



Rhino SD2/XD2����/��	�
��8

P/N 7560464A
- Chinese -

� 2007 Nordson Corporation

��：

<¸7/07
Q¹º�»¼9 2007。Nordson、Nordson3½1Rhino¾s
O²!¾!¿UÀ3。

@Á�oÀ3ÂUÃ=Ä�o。

 - ,.0120 -




